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_ COMPUTER SCIENCE/COMPUTER
APPLICATION/ INFORMATION TECHNOLOGY
(Honours Generic/Regular)
: For Honours Generic
Answer the Questions from any one Optlon

- OPTION - A
( Programﬁ uing in Visual Basic/Gambas )
Paper CSC—-HG—4016

OPTION-B
( Information Security and Cyber Laws)
- Paper : CSC—HG—4026

-~ OPTION-C
( Web and E-commerce Technologies)
Paper : CSC—HG—.4036

OPTION-D
{ Computer System Architecture)
Paper : "CSC-HG-4046 / CSC—RC—4016

OPTION-E '
(Introduction to Database Management Systems )
Paper : CSC-HG-4056/TCA-HG/RC-4016/TIT-RC 4016
‘ Full Marks : 60 ~ -
- - Time : Three hours
The figures in the margin indicate
full marks for the questions.
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OPTION-A '
( Programming _in Visual Basic/Gambas )
Paper : CSC-HG-4016

1. - Answer the following questions : 1>$7=7
(@ VB is a : _ progran_'lming
language. o

(i) Procedural
(ii) .Object-oriented
(iii) Even driven
(iv): None of the above
o (Fill in the blank)

(b)) InVB a vanable name cannot be more
than . characters.

i) 255
@) 300
(i) 125
(iv) -400

Fill in the blank)
(c) IDE stands for S ‘
(i) International Deyelopment
Environment |
(i) Integrated Development
Environment -

(iiijj Integrated Deployment

"~ - Envirenment’

(iv) - Information Delayed Environment
" (Choose the correct answer) *
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2.

(d)

@

(@

@

function converts a

(iv) None of the above’

Anumber to a string.

&) st
~_(ii) ucase()
- (i) valQ

(Fill in the blank)

VConstant varlable is fixed size of value.

(True/ False)

() The file extension of a project file is

- .vbp. C .. . (True/False)

(g9 The function procedures are by default

private. P : (True/ False)

Answer the followmg questlons : 2x4=8

Define': scope of a variable. What is the

use of Boolean type variable? Give an
examiple.

{b) What is. dynamlc array‘P erte its

.syntax

How to change font size and font colourA
in VB? ‘ ‘
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3.

@

Write the difference between sub
procedure and function procedure.

Answer any three of the following

questions : - ‘ 5x3=15

(@)

(b)

(c)

(@

()

Explain the'properties events related

. and method associated with button, llSt

box and combo box in VB.

Wnte the d1fference between pnvate and

pubhc sub procedure

'Bneﬂy explam data types of support in

VBT

What is FORM? How to customlze a
FORM?

What is. the usage of checkbox and

-image box controls? Explain- Wlth an

example.

Answer -any three of the following
questions : 3x 10=30

.(a) ‘Write a VB program to accept student

‘details such as name, department, total
marks and validate the input data and
calculate the percentage and division. -
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(b) Explain the components of IDE.

(c) What is ActiveX Data ObjeCts(Ai)Q)?
Explain . different tools used to
implement ADO.

(d) Explain the .ﬁéage of different FORM
events.

(e} Write a VB program to find out the
largest of given threée intéger number.

40‘) Write short notes on the fbllowing :
(i) MDI Form

(ii) Crystal and Data Report.
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OPTION-B -

( Information Security and Cyber Laws )

Paper : CSC—HG—4026

1. Answer the following questions : 1x7=7

(a)

®)

(c)

(@)

(e)

0?“

@

What do you mean by cyber security ?
Whét is’ IP address ?

What 1s digital signaturé ?

Define. I.P‘ spodﬁng.

What is pfotocél ?

Wthh one is an apphcatlon layer
protocol ?

(). UDP

(i) TCP .
mulP'
(iv) HTTP
What é;'e cyber laws ?

2. ‘Answer the followiﬁg[questions: 2x4=8

@

What is information security ?
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(b)

What do you mean by threats and

attacks in cyber'P

"How does ‘law differ from ethics?

(0
- (d) Why is information security
- important in today’s life ?
‘3. Answer any three of the followmg
_ questlons - - 5x3=15
(a) Explam d1fferent types - 'of cyber
- - attacks. ‘ . '
(b) What do you mean by data encryptlon.'
- and decryptlon'-’ | 4 <
(c) What are the objectives of éyber laws ?
(d) What are- dlfferent crimes happemng B
- in social media ? :
(e) Explain how software based data -

security differs from physical data
secunty - :

4. Answer any three of the foil,owing
questions : 7 10x3=30

(@)

EXplain. ‘brieﬂy about various applica-
tions of information - security and

~ threats in protecting important data.
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- (b) Explain the following terms :
(i) ~ Encoding | '
(i Decryption
(iii) Hashing techoiques

(o) Explain about the processing of secure
 Information. with suitable example.

(d) What do you mean by Firewall?
. Explain, its functions in E-commerce.

() What 1is the primary goal of
Information  security ~within an
‘organization ? How do you apply if to
protect data securely ?

(i  Write short notes on any two of the
’ followmg

(i) Software piracy . -
(i) E-Wallet .
- (i) Securlty protocols

(iv) Black Box Testlng
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OPTION-C

( Web and E-commerce Technologies )

_ Paper : CSC-HG-4036

1. ,Answa:r the following questions:  1x7=7

(@)
o)

(@

What is E-commerce ?

‘What is Internet?

Name any two network devices.
What is Internet Service Providér (ISP)'P

What is Electromc Data Interchange

- (ED])?

Write any two types of electronlc

payment system.

What is digital signature ? )

2. Answer the following questions : . 2x4=8 -

(@
(v)
(
(@)

Name any two computer crimes.
Differentiate between LAN and MAN.
Write two aipplicatio‘ns of EDL

What are authorlzatlon and .

. uthentlcatlon in Internet secur1ty’>
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3. Answer dny three questions from ‘the
following :- : | 5x3=15

@

"~ E-commerce technologies.

w)

@

@

(e)

Describe the techmcal components of

Write .a ‘sho‘rt ‘note on credit card

system. .

What is payment gateWay.? What is its
role in electronic payment services ? -

What is computer virus ? How does it
spread ? How can a computer system

e protected from computer vifus ?

Describe secret key cryptography and
pubhc key encryptlon

4. Answer any three questlons from the
'followmg - ~ . 10%x3=30

o
()

(c)

,Explaln vanous types of E -commerce.

Discuss the problems ‘and issues
related to internet based E-commerce.

How does electronic data interchange

work ? Explain.
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(d) - Discuss the issues. related to enabling
- - technologies for SCM and E-commerce.

(e) Discuss the strategies for developlng :
. electromc commerce ‘web 31tes .

j] -Explain ~the E-cyc.le‘ of * Internet o
' n;arkc'tling.‘ B
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OPTION-D A
( Cbmpht’er System Architecture)
Paper CSC':'—HG—4046/CSC—'RC—4016V;'
1. Fill in the blanks : 1x7=7
A B {7 1 o
‘ (a) In Boolean algebra A. (B+C) =
Boolean algebra © A. (B+C) |

() In Boolean algebra A+B)=

R

Boolean algebra © iA+B§=~ _ |

() A- _ is a sequential circuit which
consists of single binary bit.

| sequentlal circuit © u‘lﬁf binary
- ﬁﬁ AP T Rl

is also knovvn as a data

(d)
selector. _ 4 ‘
3 data selector (FIRI 23|
(e) is a special type of sequential

circuit used to count the pulse.
Pulse sifa3ta1 IR @R sequential
circuit ¥ ___ (e | ‘
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() Full form of DMA is -
" DMAIf T |

(g) Full form of MAR is’
. MARIYfwAT |

2. Define the following terms i 2x4=8
- oRe Bt e |
(@) >C‘dmbAinational circuit
(b) Register '
() Bus system-
(d) Micrq-'operatib‘n

3. Answer any three of the following
questions : - 5x3=15

Riceteat ot e Bew ﬁw | _

(@) Simplify the Boolean fun;:tion :
F(A,B,C,D)=)0,1,23,12,13, 14,15)
TBoolcr;n 'ﬁmctiori - |

F(4,B,C,D)=%(0,1,23,1213,14,15)
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(b)

(c)

()

(o)

Explain how- ﬂoatmg pomt numbers
are represented

Floating point number @R @W??F il?iffl |

' W'@WWI

Briefly explam mstruction cycle.

Instruction cycle S YT Wl :
Explain microprogrammed control.
Mieropro‘grammed control R 39|

What is addressing mode ? Explain. '

'Addressing mode &? RURH WI '

4. Answer any three of the following

questions : , 10x3=30
Ricwteat foft e Ber frais
(a) Draw the loglc dlagram and explain

()

3 '(Sem-4/_CBCS)CS'C HG 1/2/3/4/5,
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Workmg of 8x1 multlplexer

8 x 1 multiplexer 3 @& fog izl o
.WWWWWI

Write a br1ef descnptlon of computer

: reglsters

Computer reglster @ﬁ'«' By ﬁ?ﬁ‘f ﬁ?ﬂl



(c) What. is instruction format'-’ Explain

zero-address, one-address,  two-
_address and three-address 1nstructlon g
- formats. . :

.Instructlon format 1%‘? Zero-address,

~one-address, two- address and three-

' address 1nstruct10n format ?UN]T I

| (d'). What are the modes of data transfer ?
Explam each.

i '} " Data transfer 3 mode @R 1%? W )
e '

_ (e) Describe anthmeuc and loglcal mlcro-
.operatlons

.Arithmetic 9% logical micro- operatlona , |
| acfm | -

_07 Wnte short notes on : 5x2=10
53 (Bt ot ¢
(i) Assembly language
4',(11) I/ 0] 1nterface '
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» ‘OPTION-E
( Introdiiction to Database Management Systems)

Paper : CSC-HG-4056
‘ TCA—HG/ RC-4016
TIT—RC—4O 16-
1. - Answer the followmg questions as d1rected

1x7=7
| weTe i s ﬁzwxn:mzﬂ ew el 2
(@) A - is a collection of 1nterrelated
data and a set of programs to access
those data.

TR T S T S R
';\'RIFIE{ access 9 ACATT <51 (NG |
(T} 31% 73 F)

(b) ‘command is used to delete or
remove a table in database. -

e ObiEge 4l (59 @9 delete
mwwwiﬂl .
(Wﬁ?ﬁﬁﬂ)

(c) The __ model uses a collection of
tables to represent both data and the
relationships among those data.

. WO data W% feict data 3 &I
WW&W@WW@WW-
IR I | (3T A2 7T ).
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"(d) Select is an operator in relational

algebra.. . {True/False) -

Select TZ(T . relational algebra © &5

- operator!| | - (hyRR)

(e) A foreign key cannot contain NULL

- value. . (True/False)
@Bl foreign key © NULL WW 2%

@& . (/=)

/A In orie-to-one mapping cardinalify, an
- entity in A is associated with at most
one entity in B, and vice-versa.
(True/ False)
One-to-one mapping cardinality 9, A
P! 96l entity, B I i85 @6l entity I
CTCe ©Y® & A, S Redioei |
| (o1 1)
(g9 The participation of an entity set’E 1n
' a relationship set. R ‘is said to be
partial if eévery entity in E participates -
. in at least one relationship in Rl
o | (True/False)
«o1 relationship set R %, <ot entity set,
_E ¥ participation Jf¢1 (PRI 2% partial 1
E 3-ofS0! entity R® w@e: Bl FF©
TR A ’ (/=)
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2. Define.the terms I 'b . 2x4=8
R ﬁﬂi , '
(a) Database
(b} DBMS
L SeL
(d) ~ERD
3. -Answer any three of the followmg
~ questlons ' o 5><3?15

Rz R e So Brat 2
: (a) What is data- 1ndependence ? Briefly

- explain- the logical data 1ndependence
- property of DBMS.

: Data independence I @Kﬁ‘? DBMS ¥
- logical data’ 1ndependence B W Eﬁﬁi
IR

(b) Explam the basm concepts of entlty- g
.relatlonshlp data model. '

.'Entity-relatiOnship data model I ﬂf’l’
- YIRAPTR R /] |
(c) Briefly discués- .the  fundamental
operations in relational algebra.
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Relational algebra ' fundamental |
operations I RI@ 5YF W=Dl F

'(d),' How to convert an ER: dlagram to -
relational schema ? :

ER diagram 95 relatlonal schema =

. (PGS Flies BRa #ARe
(e) Bneﬂy explaln the advantages of
DBMS. ’
DBMS T aﬁw mas amm awn
4. Answer any three of the followmg ,
questlons B ~ 10x3=30
Rtz Fﬁfr ot T %mr

“(a) Explam the DBMS archltecture W1th
sultable dlagram ‘ :
- ©Y@ diagram T TS DBMS‘ .
architecture I Wl o
| (b)' D1scuss the relatlonal data model.
| Relational data model a,.ﬁm WTCWWT
M

{c) Explam the concept of - pnmary key
. with suitable example. How is it
d1fferent from candldate key?
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CoR& CWIZAeR (319 primary key I 4&elCH!
I 911 Candidate. key 3 *[l 3 (FEE
A2

(d) What is normalization in DBMS?
Describe 1NF, 2NF and 3NF with
suitable examples.

DBMS $© normalization &2 @‘?{7{—
iz GiCS 1NF, 2NF o6 3NF 96601 <641 |

(e) Write the differences between :
19y foral ¢

(@) Entity set and relationship set

(b) Strong entity and weak entity

(c) Simple and composite attribute

(d) Single-valued and multi-valued
attribute

(/ What is a foreign key? How is it
different from primary key ?

Foreign key &2 3 Primary keyd <4l
(PP 520 ?
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